
Examination: M.A. Hindi
Section 1 - Section 1
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A can finish a work in 18 days and B can do the same work in half the time taken by A. Then, working
together, what part of the same work they can finish in a day? 
 0 1/6
 0 1/8
 0 1/4
 0 1/2
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Nidhi walks 10 metres in front and 10 metres to the right. Then every time turning to her left, she walks
5, 15 and 15 metres respectively. How far is Nidhi now from her starting point?
 10 metres
 5 metres
 15 metres
 None of the above
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If A+B means A is daughter of B,
A-B means A is husband of B
A × B means A is brother of B

From the statement A × B × C × D, which of the following statement is not necessarily true?
 C is the brother of A
 A, B, C are male
 B is the brother of A
 D is brother of C
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Based on the information given answer the following question. 
1. In a family of six persons, there are people from three generations. Each has separate professions
and they like different colours. There are two couples. 
2. Shyam is an Engineer and his wife is not a doctor and she does not like Red colour. 
3. Chartered Accountant likes green colour and his wife is a teacher. 
4. Manisha is the mother-in-law of Sunita and she likes orange colour. 
5. Vimal is the grand father of Tarun and tarun is the Principal and likes black colour. 
6. Nyna is the grand daughter of Manisha and she likes blue colour. Nyna's Mother likes white colour.

What is the profession of Sunita?
 Teacher
 Principal
 Chartered Accountant
 Cannot be determined



Question No.14 4.00
Bookmark     

 

 

 

 

Question No.15 4.00
Bookmark     

 

 

 

 



Question No.16 4.00
Bookmark     

 

 

 

 

Question No.17 4.00
Bookmark     

 

 

 

 



Question No.18 4.00
Bookmark     

 

 

 

 

Question No.19 4.00
Bookmark     

 

 

 

 



Question No.20 4.00
Bookmark     

 

 

 

 

Question No.21 4.00
Bookmark     

 

 

 

 



Question No.22 4.00
Bookmark     

 4
 2
 1
 3
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Find the odd one out? 
 Withdrawal
 Deduction
 Deposit
 Debit
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This is the school where I studied till class 5.
The underlined word is a
 adverb
 preposition
 pronoun
 adjective
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Choose the best synonym of the italicized word.
Dr. Elango is in the habit of using obsolete words.
 wrong
 difficult 
 outdated
 simple
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Study the following information carefully and answer the question below it

The Director of an MBA college has decided that six guest lectures on the topics of Motivation,
Decision Making, Quality Circle, Assessment Centre, Leadership and Group Discussion are to be
organised on each day from Monday to Sunday. 
(i) One day there will be no lecture (Saturday is not that day), just before that day Group Discussion
will be organised.
(ii) Motivation should be organised immediately after Assessment Centre.
(iii) Quality Circle should be organised on Wednesday and should not be followed by Group
Discussion
(iv) Decision Making should be organised on Friday and there should be a gap of two days between
Leadership and Group Discussion

Which of the following information is not required for the above lecture arrangements?
 Only (i)
 Only (ii)
 Only (iii)
 All are required
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She studies very hard for the exams, ______?
 is it?
 does she?
 isn’t it?
 doesn’t she? 

Question No.54 4.00
Bookmark     

Select the Pair that best respresents the relationship that is given in the question: 
Explore : Discover
 Tree : Wood
 Books : Knowledge
 Research : Learn
 Think : Relate
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Statement: Ten Candidates, who were on the waiting list could finally be admitted to the course. 
Assumptions: 
I. A large of number of candidates were on the waiting list. 
II. Wait listed candidates do not ordinarily get admission.
 If only assumption II is implicit
 If both I and II are implicit
 If only assumption I is implicit
 If neither I nor II is implicit
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Statement: Apart from it's entertainment value of Television, it's educational value cannot be ignored 
Assumptions: 
I. People take Television to be the means of entertainment only. 
II. The educational value of Television is not realized properly
 If only assumption I is implicit
 If neither I nor II is implicit
 If both I and II are implicit
 If only assumption II is implicit
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Crumb : Bread :: 
 Splinter : Wood
 Flower : Vase
 Water : Bucket
 Tea : Cup
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Being awarded the Best Singer in 2010 marked a _________ in her life.
 milestone

 yardstick
 sign-post
 memorial 
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Correct the error in the italicized part of the sentence by choosing the most appropriate options
Job was a tiny man, barely five feet tall, with a spright walk
 a sprightly walk
 spright walk
 a sprightly walking
 spright walkingly
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Choose the best antonym of the italicized word. 
The deliberate suavity of Olaf’s behavior made the emotions of the audience volatile.
 politeness
 stupidity
 impetuosity
 pleasantness
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When their father died, their elder brother sold the old house and ___________ in a small flat in a far-
off suburb
 put them down
 set them up
 put them up
 set them down 
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Choose the best synonym of the italicized word.
Children of excessively indulgent parents often become very recalcitrant.
 indolent
 disobedient
 dependent
 insolent
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Study the following information carefully and answer the question below it

Lakshman passes through seven lanes to reach his school. He finds that ‘Truth lane’ is between his
house and ‘Lie lane’. The third lane from his school is ‘Karma lane’. ‘Dharma lane’ is immediately
before the ‘Yog lane’. He passes ‘Salvation lane’ at the end, ‘Lie lane’ is between ‘Truth lane’ and
‘Dharma lane’, the sixth lane from his house is ‘Devotion lane’.

If Lakshman’s house, each lane and his school are equidistant and he takes 2 minutes to pass one
lane, then how long will he take to reach school from his house?
 14 minutes
 13 minutes
 15 minutes
 16 minutes
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